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Q.CODE : B1237 
Answer Question No.1 which is compulsory and any five from the rest. 

The figures in the right hand margin indicate marks. 
  
Q1  Answer all questions : (2 X 10) 

 a) 
Find the value of the determinant     อ

૞ ૙ ૞
૚ ૛ ૚
૚ ૛ ૜

อ 
 

 b) Find 2A + I where A= ቀ−૛ ૚
૜ ૝

ቁ  and I= ቀ૚ ૙
૙ ૚

ቁ  

 c) Define median.  
 d) 

Evaluate: 32cos  4cos + 32sin  4sin    
 

 

 e) Find the value of the following trigonometric ratios. 
(i)

0210sin  (ii) 
0315cos  

 

 f) Find the area of triangle whose vertices are A(6,3),B(-3,5) and C(4,-2)  
 g) Determine the equation of a line passing through the point (-4,-7) and parallel 

to x-axis. 
 

 h) Evaluate: ܠܕܑܔ→૙
૜ିܠ૛ܠ

ܠܖ܉ܜ
 

 

 

 i) Find ܡ܌
ܠ܌

ܡ ܎ܑ  = ൫૜ − ૜ܠ)૛൯ܠ − ܠ + ૚) 
 

 

 j) 
Evaluate ∫ ଶ௫యାଷ௫ି଻

௫మ/య  ݔ݀
 

 

    
Q2 a) Solve the simultaneous equations 2x + y = 10 and 3x - y = 5    

 by using  Cramer’s rule . 
(5) 

 b) 
If ∆= อ

3 8 7
−4 5 6
7 3 −8

อ 

Find the minors & co-factors of the elements in the second column. Hence, 
expand ∆ to find its value. 

(5) 

    
Q3 a) Find the  the Median of the distribution given below.         

Class Interval: 0 – 10    10 – 20    20 – 30    30 – 40    40 – 50    50 – 60  
Frequency    :     2              6               8            13             7               4        

(5) 

 b) Solve:࢞ − ૛√࢞ − ૟ = ૙ 
 
 
 

(5) 
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Q4 a) Find the value of sin150 and cos150. (5) 
 b) 

Show that: 
୲ୟ୬୅ା୲ୟ୬୆
୲ୟ୬୅ି୲ୟ୬୆

= ୱ୧୬ (୅ା୆)
ୱ୧୬ (୅ି୆)

 
(5) 

    
Q5 a) Prove that (1 + cotA – cosecA) (1 + tanA + secA) = 2 . (5) 

 b) Find the equations of the medians of a triangle ABC, the co-ordinates of 
whose vertices are A(-1,6), B(-3,-9) and C(5,-8) 

(5) 

    
Q6 a) Four points A(6,3),B(-3,5),C(4,-2) and D(x,3x) are given in such 

  a way that 
۲۰۱ ܍ܔ܏ܖ܉ܑܚܜ ܎ܗ ܉܍ܚۯ
۰۱ۯ ܍ܔ܏ܖ܉ܑܚ܂ ܎ܗ ܉܍ܚۯ

= ૚
૛

, ϐind x.   

(5) 

 b) Show that the quadrilateral with vertices (2, -2), (8, 4), (5, 7) & (-1, 1) is a 
rectangle . 

(5) 

    
Q7 a) Find 

ܡ܌
ܠ܌

 where x = a( t + sint) and y = a( 1 – cost ). (5) 

 b) 
b) ܑܡ ܎ = ඨܠ܏ܗܔ + ටܠ܏ܗܔ+ ඥܠ܏ܗܔ+ ⋯  ∞     

Show that(૛ܡ − ૚) ܡ܌
ܠ܌

= ૚
ܠ
. 

(5) 

    
Q8 a) Evaluate ∫ ௫య

(௫ିଵ)(௫ିଶ)(௫ିଷ)
 (5) ݔ݀

 b) Solve ∫ ହ௫ିଷ
(௫ାଵ)(௫ିଷ)

 (5) ݔ݀
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